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Εν 1 

Γράψε με κλάσμα το 

μέρος των σχημάτων 

που είναι 

χρωματισμένο  

3/6 5/6 2/6 

6/20 7/20 



Αν  η άσκηση ήταν 

για ισοδύναμα 

αυτοκίνητα θα 

έπαιρνα άριστα! 

2 2 4 

1 4 4 



Εν 2 

Κάνε τις πράξεις. 

2 2 

5 7 

6 

6 

5 

6 

2 4 

8 2 

2 5 

3 8 



  9x6         5x7            54         35              19 

____     _  ____      =   ___  _   _____  =   ___ 

42             42             42         42             42 

4x6            5x7           24            35              59 

_______    +   ______  =  _____  +  _____  =   _______ 

 7x6              6x7            42             42            42         



Ας λύσουμε το πρόβλημα 



9/12 + 2/12 = 11/12  ή  18/24 + 4/24 = 22/24 

63/72 + 40/72 = 103/72 (103/72=1 και 31/72) 

21/56 – 16/56 = 5/56 

20/36 – 9/36 = 11/36 



Εν 4 

5Χ9 

7Χ8 

45 

56 

180 

240 3Χ80 

2Χ90 



Εν 5 

3 

20 



Εν 6 



Προσθέτω κι αφαιρώ 

μεικτούς 

(2+1) + (3/4  + 1/4) = 3 + 4/4  = 3 + 1= 4          

11/4 + 5/4 = 16/4 = 4 



Εν. 7 




